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MeToauysi pexomeHaamii
I0X0 NPOBEACHHA TECTOBOro KOHTPOJIIC Ay AHTHBHHX YMiHB

CTYAeHTiB HEMOBHHX (PaKy/IbTETIB BHILOI0 HABYA/ALHOI'0 3aK1aay

1. Tlepea npoBeneHHAM TeCTyBaHHS ayAWTHBHMX YMiHb CTYAEHTIB CHijJ
MPOBECTH 3 HUMH IHCTPYKT@XK. Takuif {HCTPYKTaX Ma€ Ha MeTi BAOCKOHAIHTH
CreliaibHi HaBYaJIbHI BMiHH® CTYNEHTiB BHKOHYBATH TECTH 3 aydilOBaHHA.
YaockoHaeHHS TaKUX YMiHb MOXe€ 3AIHCHUTHCA 33 AOTIOMOIOHO:

a) 03HaHOMJIEHHA CTYJIEHTIB 3 OCOOIIMBOCTAMHU NPOLEIYPH TECTYBAHHS,

0) O3HalOMJIEHHS CTYZHEHTIB 3i CTPYKTYPHHMH €JIEMEHTaMH TECTOBOrO
3aspanua (T3) {iHcTpykuis, onopy, BiANoBini}, iX yHKUiOHATEHHM IPH3HAYEHHAM;

B) O3HAMOMJ/IEHHS CTYAEHTIB 3i CTPYKTYpolo OnaHKiB i3 3aBIaHHAM Ta
Os1aHKiB 14 BiATIOBiAEH;

r) O3HalHOMJICHHS CTYNEHTIB 3 nNpUAOMaMM TECTYBaHH3, OBOJIOMIHHA
TEXHOJIOTI€10 BUKOHAHHA T3, o Oy/IyIOThCst HA OCHOBI THX YH IHIIWX IPHHOMIB;

A1) BIOCKOHAJICHHA BMIiHHS TIPALIOBATH 3 Pi3HUMH onopaMi (BepOanbHUMH,
HeBepOATbHUMHM, KOMOIHOBAHHMMU);

€) OBONOAIHHA CTyIEHTaMH TEXHOJOTIE dikcauii pizHMX THNIB OYiKyBaHO]
BiIMOBiAl (BHOIpKOBOT Ta HANIBNPOAYKOBAHO).

2. TecTyRaHHS ayAWTHBHHMX yMiHb HEOOXiOHO NMPOBOJMTH 3 HOTPHMAHHAM
neBHOi npouenypy. [1poueaypa BUKOHAHHA TecTy 3 ayiloBaHHA mepeadayac:

a) 3abe3nedyeHHs HATEXKHUX Qi3HUHUX YMOB TECTYBAHHS;

6) o3:afOMAEHHS TECTOBAHMX 3 NAM ' ATKOKO-THCTPYKUIEK);

B) BUAA4y TECTOBMX 3aBJaHe Ta OMaHKIB /4 BIANOBIAEH, NPOCIyXOBYBAHHS
ayAl0TEKCTY;

r) iKcalro TeCTOBAHMMM BiAMOBIIEN;

1) OUIHIOBAHHA BIANOBiAEH TECTOBAHUX.

2.1. 3abe3neueHH] HANEKHUX PI3HYHUX YMOB TECTYBaHHA.

[lotoyHe | TeMaTM4He TeCTyBaHHA NPOBOAWTBCS B AyAUTOPIAX s
NPOBEAEHHS 3aHATb 3 aHMIIHACHLKO!I MOBH. [lpu NMpORENEHH! TECTYBaHHS HeOOXiAHO

3a0€3NeYMTH MaKCHMATBHO MOX/MBY CaMOCTIHICTh BUKOHAHHS TecTy. JIis HbOro



chifg PO3MICTHTH TECTOBaHMX MO OJHOMY 32 cronoM. baxano, mwo6 cromd Oynu

pozramOBaHi Ha Bigcrani 1 — 1,5 M OfHH BiX OBHOTO.

2.2. O3naiioMIeHHA TECTOBAHHUX 3 nam’ ATKOIO-IHCTPYKUI€IO.

[licns po3MillleHHs TECTOBAHHX B ayauTopii ix HeoOXiaHO O3HAHOMHTH 3
faM’ STKOIO-IHCTPYKUIEK0 IOAO BHKOHAHHA T3. BoHa BHIAETBECA KOKHOMY
TECTOBAHOMY 1 MICTHTh pekoMeHaauil, BMK/IAZEHI YKpaiHCHKOK MOBOIO Aid
YHHKHEHHS HETOUHOCTEH B 1X po3ymiHHi 3 GOKY cryaentis. Pexomenpaii MICTATD
YiTKi HACTAHOBM CTOCOBHO NOPALKY Ta 3MiCTy RifIBLHOCTI TECTOBAHUX IIPH po0oTi 3

TECTOM.

[IaM’sTKa-iHCTPYKUi# M0A0 BHKOHAHHS TECTOBHX 3aBJaHb

|. VYBaKHO MpOuUMTANTE iHCTPYKIIO, fKa NOAAETHCA niepet TECTOBMM
3aBJAHHAM.

Janam’ ATaiiTe, K 3aMHCyBaTH BiMOBIAb.

2. YBaOXKHO pO3MSIHBTE MAMOHKH, aiarpamu, Tabauul, CXeMH TOUIO Ta
O3HAKOMTECH 3 PEUEHHAMH, 1O NOJAIOTHCA HA OnaHKy i3 3aBJaHHAM.

3. IpocayxaiTe 3anponoHosanuil Bam ayHiOTEKCT.

4. BuauayTe BiAnoBiai, aki By BBaxaere NPasujibHUMH.

5. 3anuuiiTh BiAMOBiNi Ha GnaHKy Ans BiAnoBiAEH.

6. Slxuio By BHpILIWIK 3aMiHUTH BiAMOBiAb, 3aKPECNITh MONEPEAHIO i
TOpYY HANMIIITh IHUIHH BapiaHT.

7. Yac, BigpencHUit Ha BWUKOHAHHA TCCTOBMX 3aBAaHb, OOMEXECHHH

(BKA3y€TbCA KUIBKICTb XBUIIMH), TOMY npauoiTe Y WBHIKOMY temni, 1mwob
BCTUTHYTH [aTH BianoBilb Ha BCi MYHKTH TECTOBOTO 3aBjaHHA. Ti MyHKTH, HA
ki He Oyae BiMOBIAI, OLLIHIOIOTHCS AK HENPAaBWIbHI.

ByabTe 30CEpPEKEHUM Ta YBOKHUM, i Bu TOCSTHETE Gaanux pe3y bTaris.

Baxcaemo ycmixy!




2.3. Bujgaua TeCTOBAaHHM apKyIIiB i3 TECTOBMM 3aBJaHHAM Ta ONaHKiB mis
BIATIOBIICH, NPOCIYXOBYBAHHA ayAIOTEKCTY.

[Micna 03HAMOMJIEHHS 3 aM’ATKOKO-IHCTPYKIUE TECTOBAHMM BHAAIOTHCA
TECTOBI 3aBJaHHs Ta GNaukyu ANg Bianosigeit. KO Ha OCHOBI OAHOTO ayJIOTEKCTY
oTpiGHO BHKOHATH Aekinbka T3, 3aBHaHHs HeoOXiZHO BUOABATH O€3MOCEPENHBO
rniepe]l BAKOHAHHAM KO>KHOTO HacTynHoro T3.

TecroBani npoOCAyXOBYXOTb ayHiOTEKCT fepell BUKOHAHHAM  KOXHOTO
HacTynHoro T3 3 ayalloBaHHA.

2.4. ®ikcallis BiANOBiEH TECTOBAHUMHU.

Hns ¢ikcauii TectoBanuMmu Bianosiged (Ha OnaHkax Jji1 BIANOBIAEH)
BIABOAUTHCA Bij 2 10 4 XBUIIHH MICJIS MPOCIYXOBYBAHHSA aydIOTEKCTY.

2.5. TlpoBemeHHs TeCTyBaHHS TMMOBMHHO 3aBEPLIYBATHCH OLLHIOBAHHAM
BIAMOBI/Iei TECTOBAHHX.

OuiHIOBaHHSA BiANOBiAeH TECTOBAHUX 3MIHCHIOETLCA 32 TIEBHOIO CXEMOIO, siKa
BU3Hayae NpOUEOypY OLIHIOBaHHA BianoBigedt TectosaHux. Taka mpouexypa
CKJTAJIAETHCH 3 TPHOX €TalliB.

2.5.1. ITepesipka OnankiB 11 BinnmoBizeit.

[TepeBipka OnaHkiB LA BiANMOBIAEH mnependavyac BU3HAYEHHA MPABUIBHMX
(abo HenpaBWIbHUX) BIANOBiAEH TECTOBAHUX IUIAXOM TMOPIBHAHHA 3 KIIOYEM.
TpaBunpHUMK BBOKAIOTHCA BapiaHTH BiIMOBINEH, AKi BiANOBIAIOTH KoYaM. Skuto
BiANOBiAL TECTOBAHOrO NPEACTABIEHA  CJIOBOM, CJOBOCIONyYEHHAM  ado
peueHHAM(H), TO AJi1 BU3HAYEHHS NIPaRUIBHOCTI BIAMOBIAL 1T 3ICTABNAIOTH 3 KIIOUEM
JI1 BCTAHOBJIEHHA BiAMOBIAHOCTI, BPAXOBYIOUH CEMAHTHUHO NPHIHHATHY QopMy Ta
3posyminicts.  Opdorpadiuni, rpamaTuydHi Ta NOYHKTyaulWHl [OMUJKH  He
BPaxXOBYHOTHCH.

2.5.2. TligpaxyHok 6aniB.

[TinpaxyHok GaniB, OfepKaHUX TECTOBAHUMH 3a BUKOHaHHR T3, HEOOXiAHO
3OIACHIOBATM HA OCHOBI BCTAHOBJIEHOI KIIBKOCTI OaniB 3a KOXHY TNPaBHIBHY
BiANOBiAbL LLOro 3aBAaHHA. BcraHoBAeHa KifbKICTE 6asiB BKa3yeThCd Ha apkylui i3

3aBAaHHAM.



2.5.3. TlepeBenenHs 6atiB B akaaeMidHi OLIHKH.
Tlicas migpaxyHky OaniB, OTPUMAaHMX I[p¥ TECTYBaHHi, CJil BM3Ha4aTH
BiACOTOK NpaBWIBHHX BiIMOBiAeH. AKageMidHa OLHKa BCTAHOBIOETHCA 3a

JIONIOMOrox0 TabJIMLI OLiHIOBAHHS pe3y/NbTaTiB BUKOHAHHS TECTY.

Tabauud oniHIOBaHHA PE3y/IbTATiB BUKOHAHHA TECTY

BiAcoTok npaBWIBHUX BiANOBiAEH Ouinka
95 - 100 BIAMIHHO
75-94 nobpe
50-74 3aJ0BUIBHO
0-49 HE3a/IOBLTBHO

3. Pe3ynpTaTd [OTOYHOTO TECTYBaHHA ayAMTUBHHX YMiHb CTYIEHTIB
BMK/Ia/1a4 Mac BHKOPUCTOBYBATH MUl TOTO, 11106 3poOUTH BUCHOBKH NP0 YCIIIIHICTH
ab0 HeyCHiHICTh MPOLECY HABYAHHA AyAilOBaHHA, a BINTaK NPHUAHATH PilICHHA
OO PETYMOBAHHS Ta KOPMIYBaHHs Mpouecy HaByauHi. Lle OyayTs piueHHS
BMK/Iafaua MOA0 KOPEKLiT MOBIEHHEBUX, HABUANBHUX il CTYAEHTIB, BJAaCHHX [iH,
a TaKoX LIONO 3MiH, SKi CTOCYIOTHCA HAOOpPY, XapakTepy Ta PeXUMY BHpaB, fki
OyayTb BUKOHYBATUCh Ha HAaCTYMHHX 3aHATTAX.

Pe3ynbTaTH TEMAarTW4YHOrO TECTYBaHHA ayJMTHBHHX YMiHb [OBHHHI
BHKODMCTOBYBATHCh BHK/IAJa4€M JUIf TOrO, 06 3poOMTH BHCHOBKM MpO piBEHb
HaBYaJILHUX JOCATHEHb CTYEHTIB B OBONO/IiHHI aylilOBaHHAM 32 NMEPIOJ BUBYEHHS
TEMW 1, BIAMOBIAHO, TMPUAHATH pIUIEHHA LIOAO PErylOBaHHA Ta KOPHryBaHH:A
Mpouecy HaByaHHA LbOrO BMAY MOBICHHEBOI AiANIbHOCTI. BHKnasau npuimarime
pilieHHS NP0 MOX/IMBICTH 4M HEMOXK/IMBICTh MEPEXOMY 10 BHBYEHHA HACTYMHOL
TEMH, @ TAKOXK NPO HEOOXIOHICTE BHECEHHS 3MIH Y METOAMUYHY TAaKTHKY, 10 MaHy,

po3poOAEHOro Ha HACTYNHI TEMATHYHI UMKIIH.



Tect 3 ayailoBanus 3a Temoio “Types of Computers”

Cy6recT 1A MOTOYHOLO TECTYBAHHA aYAUTHBHUX YMiHb

YV upoMy CyOTECTi TECTOBAHUM IIPOMOHYETHCH MPONEMOHCTPYBATH BMIHHS
po3yMiTH Ha ciyX (rno6aibHo Ta AOKIAAHO) TPH aBTEHTHYHI ay1iOTEKCTH, 3alHCaHi
Ha MardiTHy nuisky. Cy6TecT MiCTHTH [i€B’ATh TECTOBHX 3aBAaHb (T3): Tpu T3
BHKOHYIOTHCS MICNS MPOCIYXOBYBaHHA OJHOTO ayJiOTEKCTY Mifl Yac ay[IMTOPHOro
3aHATTS mUKNy; Tpu T3 — micns ayniloBaHHs JAPYroro TEKCTYy Ha HaCTyNHOMY
3aHATTI UMKIY; BUKOHaHHA Tphox HacTynuux T3 cybrecty nepenbayeHo Ha
YEproBOMY ayAWTOPHOMY 3aHSTTi LMKIy TMiCtd TIPOCAYXOBYBaHHA TPETHOTO
nopigomneHa. TEKCTH NPOCTYXOBYIOTbCA NEPEN BUKOHAHHAM KOXKHOTO 3aBIaHHA.

Posnozin gacy Ha BukoHaHHs T3 cyfGTecTy NpeiCcTaBUMO y BUTIIAAL TaOMUL.

Tabnuus |
Posnonin yacy Ha BUKOHaHHA T3
Ne T3 Yac, BinBeaeHHil Ha BukoHaHHs T3
YacTuHa A
T3 Ne 1 4 XBWIAHH
T3 Ne 2 6 XBWIHH
T3 Ne 3 6 XBUITHH
16 XBHAHH
Yactuua b
T3 Ne 4 3 XBUJIUHU
T3 Ne § 5 XBUNUH
T3 Ne 6 6 XBHJIUH
i4 xaunu;




[Tponorxenus Tadn. 1

Ne T3 Yac, BifiBeIcHHIT HA BUKOHaHHA 13
YactuxHa B
T3 Ne 7 3 XBWIMHH
T3 Ne 8 6 XBHIHH
T3 Ne 9 6 XBWIMH
15 xBuIHH

06’exT_BUMipioBaHHA. T3 gaHoro cybTecty CNOHYKAKOTh TECTOBAHMX

APOCTYXaTH i 3p03yMiTH ayAiOTEKCTH, 3aCTOCOBYIOUH TaKi BMiHHA!
a) BM3HavaTH TeMy ayaiotekcty (T3 Ne 1);
6) BiTOKpEM/IIOBATH TOJOBHE Bii APYrOPSAHOrO B ayAiOTEKCTi, BTPUMYIOUH
B am’sti rosioete (T3 Ne 2);
B) BCTAHOBJIIOBATH JIOTTuHI 3B’13KM MiX enieMeHTamu ayioTexcty (T3 Ne 3).
r) BUAUIATH CMHUCIIOBI Bixu aypiotekcTy (T3 Ne 4);
1) BuginaTu migremu ayaiorexcty (T3 Ne 5; T3 Ne 8);
e) BupinaTu cyominremu ayaiorexcty (T3 Ne 6; T3 Ne 9);
’K) BUABIATH FONOBHY MYMKY OBLIOMIICHHS, BUp&KeHY eKcrutiumTtho (T3 Ne 7).
Xoxse i3 3apnaus He nepeadayae po3yMiHHA TECTOBAHUM KOXKHOTO CJIOBA.
TekcTn. AyAiOTEKCTH MalOTh TaKi PHCH:
a) pesieBaHTHI CUTyauisM (peanbHuM abo ysaBHMM) OBCAKICHHOTO XHTTH;
6) MalOTh YITKY KOMIO3MLIAHY T2 CMHCIOBY CTPYKTYpY.

Tunu TekcTiB. HeckiaaHi aBTEHTHYHI ayAiOTEKCTH, 3 HUX IBa TEKCTH —

MOHOMOTH, OJMH — Miafor. AYAIOTEKCTH-MOHOJNOTHW BiIHOCATE N0 Pi3HHX
KOMTMO3ULIHO-MOBIEHHEBHX (POPM — ONHUCY Ta 10BLAOMJICHHS.

AyIiOTEKCT-AiaNnor Npe/ICTaBIECHNH J1anoroM-nosCHEHHIM.

Tunu T3. T3 cybrecTy BHKOHYIOTHCS 3 BHKOPUCTAHHAM TaKUX NPUAOMIB
TECTYBAHHS!

“IlepetBopenns  iHpopmauii”, “KeposaHe  CKnamauHs  HOTArTOK',

“3Hax0/DKEHHA Ta BUMpaBieHHs nomunok™, “Ouikka iHpopmauii”, “Bianosiai Ha



saruraHHg”: “MuoxuHHuit BuGip Bignosigen”, “3ictaBieHHs”, “3aBeplUEHHA

peueHs”, “IlocniIoBHE pO3TaulyBaHHs ", “[IpuragyBanHs MPOCAYXaHOro™.

YacTtuHa A

Test Item 1.

You are in the lecture. Listen to it carefully. One of your friends has missed the
lecture. He is interested what the theme of it has been. Opinions are different. On
your answer sheet next to number 1 put A, B or C. If you agree with none of them,

put D and your variant of the answer.

What is the lecture

you’ve just heard about?

Mainframes. Digital

digital computers.
g P computers.

You will get 2 points for the correct answer.

10



Test Item 2.

You are in the lecture. Listen to it carefully. The friend of yours appears to be
absent-minded. He has missed some information while making notes. Think of
completing the notes. On your answer sheet next to certain numbers put the

appropriate statements.

8 THETE IR Ly ovmescoicossmmiscossmmemmennsnemessnsnaswsns wnsiss 4545765 55550000 A VNS RO PSR E ST .
# They are 3. oo computers and 4..........ccooevvniinee e e computers.
B e ——— AR 8 i A AR imitate different measurements by

manipulate numbers, letters and special characters.

+ Digital computer: data are presented to them by means 0f @ 8.....ccoovvrvirviiices
consisting of F......coocincirvivniiinireenen — single-character numbers.

« A computer is a network of electronic circuits that operate switches or magnetize

tiny metal 10....cc.coeniniiininnn :
You will get 1 point for every correct answer.

Test Item 3.
You are in the lecture. Listen to it carefully. To put your friend’s notes in order,
arrange the statements below in the way they are presented in the lecture. On your

answer sheet in the boxes next to every statement number put Ist, 2nd, 3rd, 4th, Sth.

1 i.D The basic idea of a computer is simply that we can make the machine do
what we want by sending signals that turn certain switches on and others off,

or that magnetize or do not magnetize the cores.

12.[] There are two different kinds of computers: analog computers and digital

computers.

IS.D Digital computers store, manipulate numbers, letters and special characters.

11



14.D Analog computers imitate different measurements by electronic means.

IS.D Computers can make life more human when used properly.

You will get 1 point for every correct answer.

Test Item 1.

1.

Test Item 2.

w2

Test [tem 3.

iL.!

Answer Sheet

Bnauk ans BiAnosineH

Educational Institution

Faculty

Group

Surname

Name

Date
5 8
6 9.
7 10.

.
12 | 13. 14] | Is.

L]

12



YactnHa b

Test Item 4.

You are in the lecture. Listen to it carefully. Complete the lecture outline, which is
presented graphically. Some points of the outline have been already taken by your
friend. On your answer sheet next to the numbers put the statements appropriate for

labelling the diagram.

Digital
Computers

You will get 2 points for every correct answer.

Test Item 3.

Do you know much about digital computers? Listen to a short lecture given by John
Griffiths. Can you identify the types of computers described in the lecture on the
pictures offered? On your answer sheet match picture numbers 1, 2, 3, 4 with the
following names of computers: a mainframe; a minicomputer; a microcomputer

(desktop PC); a microcomputer (portable).

13



You will get 1 point for every correct answer.

Test Item 6.
Listen to the lecture. Information heard is sure to be useful for you. The lecturer has
offered you the test. Choose the correct completion to every sentence. On your

answer sheet next to every sentence number write down letters A, B or C.

9. A mainframe computer is...
A. ..less powerful than a minicomputer.
B. ...more powerful than a minicomputer.

C. ...not very powerful but can execute jobs rapidly.

10. Mainframe computers are used by...
A. ..students and teachers in schools.
B. ...executives and businessmen.

C. ..large organizations that need to process enormous amount of data.

11. “Multitasking™ means...
A. ...access to a minicomputer through terminals.
B. ...doing a number of tasks at the same time.
C. ...connection to a “host” computer by a network so that many users have

access to data and programs.

14



12. The most suitable computers for home use are...
A. ...mainframes.
B. ...minicomputers.

C. ...microcomputers (PCs).

13. The smallest and least powerful computers are known as...

A. ...minicomputers.
B. ...desktop PCs.

C. ...laptops and notebook computers.

You will get 1 point for every correct answer.

Answer Sheet

BriaHk 1S BiZnoBiACH

Educational Institution

Faculty
Group
Surname
Name
Date
Test ltem 4. Test Item 5.
1.1, ).
‘ ; _
2.111. B 7.
8
3.a)
4. b)
Test Item 6.
9. 10. 11, [:2;

15

L3,



Test Item 7.

Listen to the interview with Tom Bryant, an expert on
e been listening 10 the interview define the main

computers. What is the main

idea of it? Three persons who hav

idea of it in different ways. Who is right? On your answer sheet next to numbers 1,

2,3putR (right) or W (wrong). If you agree with none of them, put 4 and your own

interpretation.

Pen computers
make up @ large section of

have no future in the
the pen computer market,

world market.

The future of pen
computers 18 their growing
popularity with business
gxecutives.

vou will get 3 points for every correct answer.

Test item 8.
Do you know what a pen computer is and ho

ryant, an egxpert on computers.
e technical mistakes in the sentences from one of

w it works? To find out, listen to the

interview with Tom B After listening to it you are

sure to find and correct som

computer magazines. On your answer sheet in the boxes next to every sentence

containing a mistake puta cross. Rewrite the sentence with the correct information.

16




Pen computers are portable and very easy to use. 4.
A pen-based interface uses an electronic stylus as an input device. 3.
Pen computers are more powerful than desktop PCs. 6.
Performance of pen computers is as good as that of PCs. 7.

A Personal Digital Assistant is a hand-help pen computer designed

to organize and communicate personal information. 8.

You will get 1 point for every correct answer.

Test Item 9.

Listen to the interview to comprehend as much detail as you can. The interviewer has
been trying to make detailed notes but he has failed. Think of the words to fill in the
gaps. On your answer sheet put the appropriate words next to the numbers. The first

letter of each missing word is given.

Interviewer: Can you explain howap 9c 10 works?

Tom Bryant: Sure. A pen computer usually runs on rechargeable alkaline batteries.

You hold the computer with one hand and with the other you use an

electronic s 11 to write, draw and make selections on a flat
LCDs 12

Interviewer: That means it doesn’t have a k 13.

Tom Bryant: That’s right. You write | 14 with the stylus like a pen.

Interviewer: And how does the computer recognize what you write?

Tom Bryant: It reads the p 15 of the pen and sends s 16
to the screen. The computer then translates the movements of the pen

into characters or perform the functions like “d ”17. The

operating system recognizes specific gestures like drawing a circle or

crossing out a word.

You will get | point for every correct answer.

17



Answer Sheet

BraHk Ang BiAnoBiaer

Educational [nstitution

Faculty
Group
Surname
Name
Date -
Test Item 7.
i. 2 3.
Test [tem 8.
T 0 <O O el
Test Item 9.
9. 12. 15.
10. 13. 6.
11. 14. 17.
Cxema OliiHIQBAHHS BUINOBLACH
T3 Ne 1,

[papuibHOIO BBAKAETHCA BiAMNOBIAL:

L €

3a KOXKHY BiAMOBIAb, 1O 301ra€ThCs 3 eTa/IOHOM, HAPaxoBYyETHCA 2 banu.

MaxkcumailbHa KinbKicTb OAJTIB 3@ BUKOHAHHA T3 Ne 1 — 2 danm.

18



T3 Ne 2.

[TpaBMIbHAME BBXKAIOTHCS BiANOBiL:

2. two different kinds of computers 5. analog computers 8. core
3. analog 6. digital computers 9. digits
4. digital 7. store 10. cores

3a KOXKHY BiATIOBi[b, WO 30iracThca 3 €TATOHOM, HapaxoBy€Thea 1 Gaul.

MaxkcuManbHa KilbKicTs 6aniB 3a BukoHaHHs T3 Ne 2 — 9 6anis.

T3 Ne 3.

[TpaBW/bHAMM BBRXKAXOTHCA BiAMOBLAL

11,1 4 1241 13.1 3 14.{ 2 i3] 3

32 KOXHY BIAMOBiAb, 10 36iracThCs 3 ETAIOHOM, HapaxoBY€TECA 1 Gan.

MakcuManbHa KUIEKICTE 6aniB 3a sukoHanHs T3 Ne 3 — 5 Oautis.

T3 Ne 4,

[TpaBisibHUMH BBXKAIOTHCA BiANOBIL:

[

. II. Minicomputers.

Their use.

b

. II1. Microcomputers. Their use.
. a) desktop PCs
4. b) portable PCs

(%]

3a KOMHY BLAMOBIAb, WO 36iracThCs 3 €TATOHOM, HAPAXOBYKOTLCH 2 DalH.

MakcuMasibHa KiibKiCTh 0a/1iB 32 BUKoHaHHA T3 Ne 4 — 8 Oanis.

T3 Ne 5.

TpaBuabHHMU BBaXKAKOTHCA BIANOBIAL

19



5. a microcomputer (desktop PC) 7. a microcomputer (portable)

6. a minicomputer 8. a mainframe
3a KoKHY BLANOBiME, IO 36iracThecs 3 €TanoHoM, HApPaxoBYETHCA 1 6an.

MakcuMambHa KipKicTh Oanis 3a sukonanHs 13 No § — 4 Ganu.

T3 Ne 6.

[TpaBuapHUMH BBAKAIOTHCA BiANOBIAL
9.B 106 11.B 12.C 13.C
Ja KOXKHY BifINOBIMb, L0 2BiracThcs 3 €TajiOHOM, HapaxoBYETHCA 1 Gan.

MakcuManbHa KinpKicTh OasiB 33 pukonanns 13 Ne 6 — 5 Ganis.

T3 Ne 7.

TIpaBrAbHUMH BBAKAIOTECA BILTOBIAL
1.W 2. W 3.R
3a KOXKHY BiAMOBiAb, O 36iracThes 3 €TANOHOM, HApaxXOBYIOTHCA 3 Hany.

MaxkcuMalibHa KiTpKicTb OaiB 32 puxonauns T3 No 7 — 9 Ganis.

T3 Ne 8.

[IpaBuibHUMH BBAKAOTHCA BIAMOBLAL

4.D S.D 6.\3 7.B S.D

6. Pen computers are not powerful enough.

7 Performance of pen computers isn’t as good as that of PCs.
3a KOXHY BIAMOBLAR, HIO 3GiracThecs 3 €TAIOHOM, HapaxoBy€ThCs | pan.

MakcHmasbHa KinbKicTb OaB 3a BUKOHAHHA T3 Ne 8 -5 oanie.



T3 Ne 9.

IIpaBUNBEHUMH BBAXKAIOTHCA BIANOBIAL

9 pen 12 screen 15 position
10 computer 13 keyboard 16 signals
11 stylus 14 information 17 “delete”

3a KOJKHY BiMOBIb, 1110 30iracThCs 3 €TAIOHOM, HapaxoByeThed 1 Oa.

MaxcuManbHa KiJIbKicTh 6a1iB 3a BukoHaHHA T3 Ne 9 — 9 6aniB.

Ilpk ouiHIOBaHHI:

1) y 3aBmaunsax 3 BHOIDKOBMM THNOM OYiKyBaHOI BiANOBiAl BIATIOBiIb
TECTOBAHOr0 3iCTABAAIOTH 3 MOJAHMMH KJTIOYaMH (€TAIOHAMHM) [UIA BCTAHOBJICHHA
BiANOBIIHOCTI;

2) y 3aBnaHHAX 3 HANIBIIPOAYKOBAaHHM TMIIOM OWiKYBaHOI BiAMOBIA
BIIMOBiZb TECTOBAHOTO 3iCTABIAIOTEL 3 KIKOYAMY JUIS BCTAHOBAEHHA BiANOBIAHOCTI,
BPaxoBYIOYM CEMAHTHYHO NpHIHHATHY d¢opmy Ta 3posymimicts. Opdorpadiusi,
rpaMaTHYHi Ta MyHKTyauiiHi noMunk® B  OQOPMIEHHI BIANOBIAEA HE

BPAXOBYIOTHCA.

CyOTecT 18 TEMATUYHOI'O TECTYBAHHSA ay AUTUBHHUX YMiHb

YV uboMy cyOTECTi TECTOBAHHM MPONOHYETHCH NMPONEMOHCTPYBATH BMIHHS
pO3yMiTH Ha CAyX (KpUTMYHO) TPH aBTEHTMYHHMX ayHIOTEKCTH, 3alMCaHi Ha
MarHiTHy rutieky. Lleit cy6TecT MicTUTh Tpu TecToBl 3aBAanHs (13). AyAlOTEKCTH B
yCiX 3aBOAHHAX OpPOCIYyXOBYKOTbCS OAMH pa3. Ha BMKOHaHHs Mepiioro 3aBAaHHA
BiIBOAMTHCA 9 XBMITMH, H2 BUKOHAHHS APYroro — 9 XBUAMH, TPETLOTo — 7 XBUIIMH. B
UiOMYy Ha BMKOHaHH# LBOro cyOTecTy fiA 4ac MIACYMKOBOTO 3aHATTS LMK

BIIBOJMUTHECA 25 XBUAKH.
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0O6’exT_BuMipoBanHs. T3 npaHoro cyOTecTy CIIOHYKaKOTh TECTOBaHUX

[POCNYXaTH ayAiOTEKCTH, 3pO3yMITH IX, NEPEOCMHCIIMTH 3MICT, PO3YMIilOuH
iMAILATHY iHOpMAILLit0, 3aCTOCOBYIOYH TaKi BMIHHA:

a) poGMTH BUCHOBKM Ha OCHOBI 3MIiCTy ayMiOTEKCTY, PO3yMIKO4M IMILTILATHY
indopmatnio (T3 Ne 1);

6) NpOrHO3yBATH Ha CMUCIIOBOMY PiBHi, pO3yMir0u# IMILTILIMTHY iHpOpMaLLio
ayaiorekcry (T3 Ne 2);

B) OLIHIOBATH 3MiCT MOBIZOMNIEHHS, PO3yMilouH iMILTILIMTHY iHdopmauito (T3
Ne 3).

JKonue i3 3aBnaHb He nependayae po3yMiHHA TECTOBAHHUM KOXXHOI0O ClOBa.

TekcTH. AyIiOTEKCTH MalOTh TaKi PUCH:

a) peneBaHTHI CUTyauiaM (peanbHUM ab0 yABHUM) MOBCAKACHHOTO KUTTH;

6) MalOTh YiTKY KOMIIO3MLIIHHY Ta CMHCIIOBY CTPYKTYPY.

Tunu TekcTis. HecknanHi aBTEHTHYHI AyHIOTEKCTH MOHOJOTIYHOIO Ta

JianoriyHoro Xapakrepy. TeKCTH — MOHOJIOTH [IBOX KOMIIO3MIIIHHO-MOBJIEHHEBUX
¢GopM THMy NOBIIOMJICHHS Ta ONMUC. AyJiOTEKCT-AIaNor NPEACTABIICHUH 1ianioroM-
MOSCHEHHSAM.

Tunu_T3. T3 cyOTecTy BHKOHYETHCS i3 3aCTOCYBAHHAM TaKMX Mpuilomis

k- EE 24

TecTyBaHHs: “3aBeplueHHs pedyeHs”, “3icTaBieHHa”, “BianoBiai Ha 3anUTaHH".

Test Item 1.
Listen carefully to the lecture on history of PC industry. The lecturer has offered you
the test. Choose the correct answer to every question below. On your answer sheet

put A, B or C next to every question number.

I. In what way did PC industry history mistakes influence IBM PCs production?
A. They slowed down IBM PC market development.
B. They accelerated IBM PCs production.

C. They had no influence on it.

(8
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2. In what way did PC industry history mistakes influence Apple’s computers

productions?

A. They had no influence on it.
B. They slowed it down.
C. They stimulated it.

3. In what way did PC industry history influence computer life in the world?

A. It provided spreading computers all over the world.
B. It prevented from spreading computers all over the world.

C. It had no influence on computer life in the world.

You will get 4 points for every correct answer.

Test Item 2.

You are in the lecture. Listen to it carefully. The lecturer has offered the test to you.
Read the sentences of the test below. On your answer sheet next to the number of the
sentence matching inferred meaning of the lecture put “ + », put “ — ” next to the

number of the sentence which doesn’t match.

1. The Americans and the Japanese are working together to produce user-friendlier

clipboards.

b2

. There is a significant market for clipboard computers.
3. The most popular application of clipboard computers is education and training.

4. There are many clipboard computers sold today which are all available everywhere

in the world.

5. Clipboard systems can be made to understand any kind of writing.

You will get 4 points for every correct answer.
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Test Item 3.
Do you want to clarify things about portable computers? Listen to the extract from a

radio talk called “Computers-works”. What do you infer from the talk? To let us
know, choose the correct completion to evéry sentence below. On your answer sheet

next to every sentence number put A, B, C.

1. For businessmen it will be convenient to use ... as a supplement to their desktop
systems
A. ..portables.
B. ...palmtops.
C. ..clipboards.

2. In the office business personnel will find more effective...
A. ..palmtops.
B. ...portables.
C. ..clipboards.

3. Persons of any occupation for storing personal information will prefer to use...
A. ..notebooks.
B. ...palmtops.
C. ..portables.

4. For businessmen who need computers at their disposal while travelling it will be
preferable to use...
A. ..portables.
B. ..clipboards.

C. ..notebooks.

You will get 4 points for every correct answer.



Answer Sheet

bnask s Bignosiaet

Educational Institution

Faculty
Group
Surname
Name
Date
Test Item 1.
1. 2, 3.
Test Item 2.
4. 5. 6. i o
Test ltem 3.
9. 10. 1. 12.
Cxema oUiIHIOB3aHHA BlANIOBIAEH
T3 Ne t.

[IpaBUNBEHOK BBAXAETLCA BIAMNOBIAL:
1A 2 C 3 A
3a KOXHy BIAMOBilb, 1O 30iracThCa 3 €TANIOHOM, HAPAXOBYIOTLCA 4 Baitu.

MakcumansHa KiJIbKicTh OaniB 3a BUKOHaHHA T3 Ne | — 12 Banis.
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T3 No 2.

TIpaBuABLHOIO BBAXAECTHCA BiINIOBiJB:
4, — 5, + 6. — T ™= 8. -~

32 KOXKHY BiNOBib, IO 30ira€THCA 3 ETATIOHOM, HapaxoBy:oThCA 4 Hany.

MaxkcuMaibHa KiTbKICTh Gaitie 3a BukoHaHHs T3 Ne 2 — 20 Ganis.

T3 Ne 3.

T1paBWILHOKO BBAKACTHCA BiZNOBIAB:
9 A 10 B 11 B 12 C

3a KOXHY BiAnOBiAb, IO 26iracTheA 3 CTATOHOM, HAPAXOBYIOTECA 4 Ganu.

MakcHMasibHa KiTbKICTh GaniB 338 BUKOHAHHA T3 Ne 3 — 16 Ganis.

[1pH OLIHIOBAHHI:

1) y 3aBoaHHAX 3 BHOIpKOBWM THIIOM ouikyBaHoi BLAMOBIAL BiANOBIAB
TeCTOBAHOrO 3iCTAB/AIOTH 3 MONAHMMM KIHOHAMU (eTanoHamu) [/ BCTAHOBJICHHA
BiIMOBIZHOCTI;

2) y 3aBlaHHAX 3 HamiBIPOLYKOBaHMM THIIOM o4iKyBaHOi BiTIOBIA
BiAMOBIAL TECTOBAHOTO 3icTaBAAIOTh 3 KJAKOUaMM J/is BCTAHOBACHHA BiZMOBIAHOCTI,
RPAXOBYIOHM CEMAHTHYHO MpuiHATHY GopMy Ta 3pO3YMLICTh. Opdorpadiusi,
rpaMaTuyHi  Ta NyHKTYauifinl  poMHIKKH - B otopmneHHi  BianosigeH  HE

BPaxOBYHOTHCA.



TekcTu noBiAOMNECHD 1 ayIiFOBAHHS 34 TeMoro “Types of Computers”

Tapescript
There are in fact two different kinds of computers. One of them, the analog

computer, is used essentially for problems involving measurements. It can simulate,
or imitate, different measurements by electronic means, such as varying the voltage
in the same proportions as the measurements vary in a problem. A common device
that acts on the analog principle is the speedometer of a car which is connected to a
generator on the drive shaft. As the drive shaft turns faster, it generates a higher
voltage which is translated into readings of corresponding rates of speed on the dial.

About 90 percent of the computers now in use are digital computers. They
get their name because the data that are presented to them are made up of a code
consisting of digits — single-character numbers. A computer is an intricate network
of electronic circuits that operate switches or magnetize tiny metal cores. The
switches are capable of being in one of two possible states — that is, they can either
be on or they can be off. Similarly, the cores can either be magnetized or
unmagnetized. The machine is capable of storing and manipulating numbers, letters,
and special characters in terms of these on or off switches or magnetized or
unmagnetized cores. While more of the technical details will be discussed later, the
basic idea of a computer is simply that we can make the machine do what we want
by sending signals that turn certain switches on and others off, or that magnetize or
do not magnetize the cores.

A computer can remove many of the routine and dull tasks from our lives,
thereby leaving the individual more time for creative work in which he is interested.
This seems to contradict the common belief that computers dehumanize the

individual. When used properly, computers can make life more human.

Tapescript
Digital computers can be divided into three main types, depending on their

size and power: mainframes, minicomputers, and microcomputers.
“Mainframes” are the largest and most powerful computers. The basic

configuration of a mainframe consists of a central system which processes immense
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amounts of data very quickly. This central system provides data, information and
computing facilities for hundreds of terminals connected together in a network.
Mainframes are used by large companies, factories and universities.

“Minicomputers” are smaller and less powerful than mainframes. They can
handle multitasking, that is, they can perform more than one task at the same time.
Minicomputers are mainly used as file servers for terminals. Typical applications
include academic computing, software engineering, and other sophisticated
applications in which many users share resources.

“Microcomputers” are smaller than mainframes and minis, and carry out
their processing on a single microchip. They are used as personal computers in the
home or as workstations for group work. Examples of micros are the IBM PC, or the
Apple Macintosh. Broadly speaking, there are two classes of personal computers: (a)
desktop PCs, which arc designed to be placed on your desk, and (b) portable PCs,
which can be as tiny as a notebook. This is why they are also called “notebooks™ and
“laptops”. These are the smallest and least powerful computers, but the latest models
can run as fast as similar desktop computers and can have similar configurations.

They arc ideal for business executives who travel a lot.

Tapescript
Interviewer: Can you explain how a pen computer works?

Tom: Sure. A pen computer usually runs on rechargeable alkaline batteries. You
hold the computer with one hand and with the other you use an electronic
stylus to write, draw and make selections on a flat LCD screen.

Interviewer: That means it doesn't have a keyboard.

Tom: That’s right. You write information with the stylus like a pen.

Interviewer: And how does the computer recognize what you write?

Tom: It reads the position of the pen and sends signals to the screen. The computer
then translates the movements of the pen into characters or performs the
functions like “delete”. The operating system recognizes specific gestures like

drawing a circle or crossing out a word.




Interviewer: Can these operating systems really recognize handwriting?

Tom: Yes, they can. Software systems like Pen Windows from Microsoft and
PenPoint from Go Corp. can be trained to recognize characters written in your
own handwriting.

Interviewer: So anyone who can use a pen should be able to use a pen computer?

Tom: Yes, that’s right. Pen computers are very easy to use and portable. However,
they’re not really powerful enough to run very demanding applications — their
performance isn’t as good as that of PCs.

[nterviewer: Right. So what sort of things can you do with them?

Tom: They’re usually designed to store personal information. For example,
“Personal Digital Assistants” have an address book, a date book and a notepad
on which you can write and make diagrams. They also have infrared ports,
like those on TV remote controls, to communicate with printers, fax-modems
and other PCs.

Interviewer: And how do you see the future of pen computers? How will they

develop, do you think?

Tom: Well, I think they’ll become more and more popular with business executives

who’ll use them as a supplement to their desktop systems.

Tapescript
In 1952, a major computing company took a decision to get out of the

business of making mainframe computers. They believed that there was only a
market for four mainframes in the whole world. That company was IBM. The
following year they reversed their decision.

In 1980, IBM decided that there was a market for 250,000 PCs, so they set
up a special team to develop the first IBM PC. It went on sale in 1981 and set a
worldwide standard for IBM-compatibility which, over the next ten years, was only
seriously challenged by one other company, Apple Computers. Since then, over
seventy million PCs made by IBM and other manufacturers have been sold. Over
this period, PCs have become commodity items. Since [BM made the design non-

proprietary, anyone can make them.
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The history of the multi-billion doliar PC industry has been one of mistakes.
Xerox Corporation funded the initial research on personal computers in their Palo
Alto laboratory in California. However, the company failed to capitalize on this
work, and the ideas that they put together went into the operating system developed
for Apple’s computers. This was a graphical interface: using a mouse, the user clicks
on icons which represent the function to be performed.

The first IBM PC was developed using existing available electrical
components. With IBM’s badge on the box it became the standard machine for large
corporations to purchase. When IBM were looking for an operating system, they
went initially to Digital Research, who were market leaders in command-based
operating systems (these are operating systems in which the users type in commands
to perform a function). When the collaboration between IBM and Digital Research
failed, IBM turned to Bill Gates, then 25 years old, to write their operating system.

Bill Gates founded Mic‘rosoft on the basis of the development of MS/DOS,
the initial operating system for the IBM PC. Digital Research have continued to
develop their operating system, DR/DOS, and it is considered by many people to be
a better product than Microsoft’s. However, without an endorsement from IBM, it
has become a minor player in the market. Novell, the leaders in PC networking, now

own Digital Research, so things may change.

Tapescript
Clipboard PCs — which, as their name suggests, are not much bigger than an

actual clipboard — replace the keyboard with a liquid crystal display (LCD) screen
and an electronic stylus. Users input data by printing individual letters directly on
the screen.

There are two technologies at work in a clipboard PC: one allows raw data to
get into the computer and the other allows the computer to figure out what that data
means. The first technology relies principally on hardware and varies depending on
the particular computer. In one system, marketed under the name GRIDPad, the

computer’s LCD screen is covered by a sheet of glass with a transparent conductive




coating. Voltage is sent across the glass in horizontal and vertical lines forming a
fine grid: at any point on the grid, the voltage is slightly different. When the stylus —
which is essentially a voltmeter — touches the screen, it informs the computer of the
voltage at that point. The computer uses this information to determine where the
stylus is and causes a liquid crystal pixel to appear at those coordinates. The position
of the stylus is monitored several hundred times a second, so as the stylus moves
across the glass, whole strings of pixels are activated.

There are a handful of clipboard computers now on the market, including
GRIDPad, which is sold in the US: Penvision, manufactured by NCR and sold
around the world; and Sony's Palmtop and Canon's Al Note, both sold only in Japan.
IBM and Apple are also pouring millions of dollars into the technology.

In addition to this hardware, a variety of software is also making its way to
the market. Depending on the power of the computer and the sophistication of the
software, clipboard systems can be programmed to understand the particular quirks
of a particular user’s printing: this is an especially useful feature in Japan, where
elaborate kanji characters make up most of the written language. Improvements n
software may soon allow machines sold in the US to understand not only printing

but continuous script as well.

Tapescript
HOST: Sandra, many of our listeners have written to us asking us to talk about

portable computers. [ hope you'll be able to clarify things for us.

SANDRA: [ hope so, too. The first point to make is that portable computers are simply
smaller versions of desktop computers. They are as versatile, reliable, and
fast as any computer on your desk.

HOST: But then why are some referred to as laptops, others as notebooks, and still

others as palmtops? What's the difference?

SANDRA: Simply put, portables are larger than laptops, laptops are larger than
notebooks, and notebooks are larger than palmtops. In other words, it’s a

question of physical size and weight.
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HOST: Are there any other characteristics that differentiate them?

SANDRA: Yes. For instance, portable computers can only run on AC power. Like
desktop computers, they must be plugged in. They weigh between fifteen
and twenty pounds and have a screen that's at least ten inches diagonally.

HOST: How do laptops compare with this?

SANDRA: Laptops are smaller than portables, and most of them can fit into a
briefcase. They don’t need to be plugged in; they operate on rechargeable
batteries. Most weigh between eight and fifteen pounds and have a screen
which is about ten inches diagonally.

HOST: What about notebooks?

SANDRA: Well, notebooks weigh less and can have smaller screens. Some weigh as
little as four pounds. The smallest screen ['ve seen is about eight inches
diagonally. Notebooks are also thinner than laptops, but they work just as
well.

HOST: Now that we know the basic differences between portables, laptops and

notebooks, what are clipboards?

SANDRA: Clipboards, as the name implies, look like a clipboard or a slate. They can
operate with rechargeable batteries and are very thin, weighing between
three and six pounds at the most. Their screen size is similar to laptops and
notebooks, but one important feature is that they don't have a keyboard.
They use a pen or stylus.

HOST: You mean to say that you don’t have to type in letters or numbers!

SANDRA: Exactly. All you need is a pen that you use to print on the screen. That's
why they call them pen-based computers.

HOST: That’s incredible!

SANDRA: Now. | didn’t mention palmtops. Palmtop computers, or hand-held
computers as they are also known, are so small that they can fit in your
hand. They weigh less than one pound. Of course, they have a very small
screen, but they can operate on alkaline batteries. Most people use these as

agenda books, phone books, or address books.



Tecr 3 ayailoBanns 3a Temolo

“Computer System: hardware configuration”

CybTecT 118 mOTOYHOrO TECTYBAaHHSA ayIUTHBHUX VMIiHb

Y ubomy cyGrecTi TecToBaHMM IPOTIOHY€TBC MPOAEMOHCTPYBATH BMiHHS
PO3YMITH Ha ciIyX (rnobaneHo Ta NOK/TAZIHO) TP aBTEHTHYHI ay KIOTEKCTH, 3aMicani
Ha MarditHy rurisy. Cy6TecT MicTHTL neB’sTs TeCTOBMX 3aBiaHb (13): tpu T3
BHKOHYIOTECS RIC/ASA MPOCIYXOBYBAHHSE OHOTO ayMiOTEKCTy MiJ 4ac ayAMTOPHOTO
SAHATTA IUKITy; Tpu T3 — nicns ayxiroBauHs APYFOr0 TEKCTYy Ha HaCTYNHOMY
3aHATTI LMKTY; BHKOHAHHA TPBOX HacTynHux T3 cy6recty nepenbadeHo wa
HCPrOBOMY ayAWTODHOMY 3aHATTI HHMKTY mic/s MPOCAYXOBYBAHHA TPETHOrO
noinoMieHHA. TekcTu MPOCTyXOBYIOTECA NEpell BHKOHAHHAM KOXHOT'O 3aBAAHHA.

Posmonin wacy ua Bukonanug T3 CYOTECTY Npe/CTABUMO y BUT/ISAI Tab/IHLL.

Tabnuus 1
Po3nonin wacy Ha Bukonanus T3
Ne T3 | Yac, BinBenenuit Ha BUKOHaHHE T3 N
Yactuna A
T3 Ne 1 4 XBHUAUHM
T3 Ne 2 6 XBWITHH
T3 Ne 3 6 XBUIUH
16 xBuanH
Yactuna b
T3 Ne 4 3 XBHJTMHH
T3 Ne 5 5 XBHUIHH
T3 Ne 6 6 XBUTUH
14 xBMIMH
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[TponorxeHHs Tabn. 1

No T3 Uac, BiapeneHKUH Ha BUKOHaHHA 13
Yactuna B
T3 Ne 7 3 XBWIMHHU
T3 Ne 8 6 XBWIMH
T3INe 9 6 XBUIMH
15 XBHAHH

O6’exkT BUMipioBaHHA. T3 faHoro cyOTecTy CIIOHYKalOTh TECTOBAHHMX

[POCHyXaTH i 3pO3yMITH aylIOTEKCTH, 3aCTOCOBYOYM TaKi BMiHHA:
a) BHIINATH CMUCIIOBI BixH aymiorekety (T3 Ne 1);
6) BiZOKPEM/OBATH FOJIOBHE Bii APYrOPAMHOIO B ayAiOTEKCTi, BTPUMYIOUH
B nam’ sti ronosue (T3 Ne 2);
B) BMABJISITH FOJOBHY KYMKY IOBIZIOMSICHHS, BUDDKEHY excrutiuprHo (T3 Ne 3);
r) BUAiNATH migreMu ayaiorekcty (T3 Ne 4);
) BuginsTH cy6nizremu ayniorekcty (T3 Ne 5; T3 Ne 8);
e) Bu3Hayarh Temy ayniotexcty (T3 Ne 6);
)K) BCTAHOBJIOBATH JIOM4HI 38 A3KH MiX €iCMEHTaMH ayniotekcty (T3 Ne 7).
XoaHe i3 3apaaHbL He nepeabadac po3yMiHHs TECTOBAHUM KOXKHOTO CiioBa.
TekcTH. AYXIOTEKCTH MalOTh Takl PUCH:
a) peneBaHTHi cuTyalisM (peasibHuM ab0 yABHHM) MOBCAKACHHOTO HKHTTH,
6) MaIOTh YiTKYy KOMMO3HUIAHY Ta CMUCIIOBY CTPYKTYPY.

Tunu TexkcTiB. HecknajHi aBTEHTHYHI AyHIOTEKCTH, 3 HUX JBA TEKCTH —

MOHOJIOTH, OZMH — Jlaior. AyJIIOTEKCTH-MOHOIOTH BIAHOCATH [0 PI3HHUX
KOMIO3U1ifiHO-MOB/IEHHEBHX (POPM — ONUCY Ta MOBIAOMIEHHA.

Ay Ai0TeKCT-0iaNor MPEACTaBIeHHil 1iallor0OM-3’ ACY BAHHAM.

Tunu T3. T3 cyOTecTy BHKOHYXOTHCS 3 BUKOPHCTAHHAM TaKhX npuioMiB

TECTYBAHHA:

“[lepeTBOperHs iHpopmauii’, “KeposaHe CKnanaHHA HotaTtok”, “Bianosim

Ha 3anuTanHa”: “KopoTki BiANoBini”, “3HAXOMKECHHA Ta BUNIPABICHHA NOMMUJIOK™ .



“Oninka inbopManii”, “Bianoriai Ha 3anurasHs”; “MHoXxuHHKMA BHOIp BianosiaeH”,
?

“3icTarnenna”, “3aBeplieHHs peyeHs”, “TlocninoBHe po3TaulyBaHHs”.

Yacruua A

Test Item 1.

You are in the lecture. Listen to it carefully. Complete the lecture outline, which is
presented graphically. Some points of the outline have been already taken by your
friend. On your answer sheet next to II; a); b) put the statements appropriate for

labelling the diagram.

a) Data and
program instructions.

I. Its software.

Computer system.

¢) What peripherals are.

Their components and functions.

You will get 2 points for every correct answer.
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Test Item 2.

You are in the lecture on a computer system. The lecturer concludes with a brief
summary. Listen to it carefully. Your friend hasn’t been very attentive and has
missed some information while making notes. Compiete his notes. On your answer

sheet write the appropriate terms next to the numbers.

Computer system

Its software is the information in the form of 4.......cccoveunnneeeens 1) (0 .

Its hardware consists of electronic and mechanical parts of the system. The main

hardware Sections are 6..........cccovevcvvveeevieiiinreeearaaanaanne ) L A
 SAS——— L RN ————————————— which executes program
instructions and coordinates the activities of all the other components.
1L S—————— oLl ) N ——— and 12, which are currently
being processed by the CPU. The internal memory is composed of two sections:
| . g B s ey oo B A U -« B L “SSR—_———— -
N ——— 11— are the physical units attached the
computer. They include TR ———— | T —
| SSUSURUPP . Input devices are the keyboard and 19........ccccceniinnnan ;
Output deViCes A€ 20:.cmummmsummre 2l — L NP
are hard disks and 23..........ccormmimnons ;

You will get 1 point for every correct answer.

Test Item 3.

Do you know enough about a computer system? Listen to the lecture carefully to get
more information. Read notes your friend has made. Are there any technical
mistakes? On your answer sheet put a cross next to the number of the sentence,

containing a mistake. Rewrite the sentence with the correct information.

24. The information presented to the computer is software.

25. Physical parts that make up a computer system are its hardware.
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26. Results produced by a computer are called output.

27. A small device used to store information is a mouse.

28. The brain of the computer is the CPU.

29. Programs which can be used on a particular computer system are known as input.
30. Hardware equipment attached to the CPU is the peripherals.

31. A monitor is a visual display unit.

You will get 1 point for every correct answer.

Answer Sheet

Bbnank mna BignosineH

Educational Institution

Faculty
Group
Surname
Name
Date
Test Item 1. Test Item 2.
1. 11 4, 14.
2. 2) s 15.
3.b) 6. 16
y 17.
8. 8. -
Test Item 3. 9. 12,
24.  26. 28. 30. 10. 20
25, 27. 29. 31 1. " 21.
12 22.
13 23.
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Test Item 4.

Do you want to get more information about a hard disk and its work? Listen to
Vicky Cameron. The lecturer is asking your friend about the main idea of this short
lecture. Help him with a prompt. Choose the correct answer to the question below.

On your answer sheet in the box write A, B or C.

What’s the main idea of the

lecture you’ve just heard?

1.[] h

Changing a fragmented hard disk

by a new one is the only way

out in case of fragmentation.

One of the most effective ways
of hard disk defragmentation

is its repairing.

The most effective ways of hard disk

defragmentation are its optimizing or

\using a defragmenting program. .

You will get 3 points for every correct answer.



Test Item 5.

You are sure to find the information about a hard disk and its work important. Listen
to Vicky Cameron, the IT lecturer. The lecturer has offered you two pictures to
illustrate what fragmentation is. Define which of the following word-combinations

matches the appropriate picture below.

A — a fragmented disk
B — a defragmented disk
C - a fragmented optical disk

On your answer sheet next to every picture number (2; 3) put the appropriate letter.

You will get 1 point for every correct answer.

Test Item 6.

Do you want to get more information about a hard disk and its work? Listen to
Vicky Cameron to get more information about hard disks. The lecturer has offered
you the test. Choose the correct completion to every sentence. On your answer sheet

next to the number of every sentence write down letters A, B or C.

4. Operating system and disk heads...

A .. have to work harder and harder because of fragmentation.
B ... work better because of fragmentation.
C ... work well in despite of fragmentation.

5. The constant movement of the read/write heads...

A .. can’t damage the drive.
B .. can damage the drive.
C ... makes hard disk use more efficient.
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6. “Optimizing” takes...

A ... quite a lot of time.
B ... little time.
C ... not much time.

7. Special defragmenting programs can defragment...

A ... disks while you’re using the computer.
B ... disks only when you aren’t using the computer.
C ... disks when you stop to use the computer.

8. Special defragmenting programs ...

A ... can’t help you fix your disk.
B .. can’t prevent future fragmentation.
C ... can prevent future fragmentation.

You will get 1 point for every correct answer.

Answer Sheet

bnauk ang suanosigeit

Educational Institution

Faculty

Group

Surname

Name

Date

Test ltem 4. Test Item 3.

1. 2.

4



Test [tem 6.

PR E B

Yactrna B

Test Item 7.

Are you fond of listening to radio programs about computers? Listen to the radio
interview. Three friends of yours have been listening to it but they have understood
the theme of the interview in different ways. Define which of them is right. On your

answer sheet in the boxes next to the numbers put R (right) or W (wrong).

The interview is

about peripherals.

The interview I’ve just

heard is about input devices.

The interview ts

about printers.

You will get 2 points for every correct answer.
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Test Item 8.

What kind of printer or printers will you find more preferable? Listen to the radio
interview to get more information about printers. Your friend has been listening to
the interview and has made some notes. Number the statements below in the order
they are mentioned in the interview. On your answer sheet in the boxes put the

appropriate numbers.

4. A black-and-white ink-jet printer is a very good choice for those who don’t

want to spend much.

5. An ink-jet printer is quiet and produces high-quality output.

6. Colour ink-jet printers operate by mixing four inks to produce different colours.

7 An ink-jet printer operates by firing droplets of ink onto the paper.

8. Colour ink-jet printers can be used in professional graphics and business
presentations.

9. Colour ink-jet printers are very expensive.

You will get 1 point for every correct answer.

Test Item 9.
Listen to the radio interview to get more information about printers. Give short
answers to the questions below in the space provided on your answer sheet. Use the

statements to give better answers.

Statement. An ink-jet printer is a better method of printing than a dot-matrix printer.
10. What facts can prove that an ink-jet printer is a better method of printing than a
dot-matrix printer?

Notes
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Answer

Statement. An ink-jet printer can do many things.

11. What can ink-jet printer print?
Notes

Answer

Statement. Colour ink-jet printers can produce different colours.

12. How do they operate to produce different colours?

Notes

Answer

You will get 1 point for every correct answer.
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Answer Sheet

brask a4 Bianopigei

Educational Institution

Faculty
Group
Surname
Name
Date
Test Item 7. Test Item 8.
1. 4, A
2. S 8.
5. 6 9.
Test [tem G.
10. Notes:
Answer:
11 Notes:
Answer:
12. Notes:
Answer:
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CxeMa OLliHIOBaHHS BianoBigei

T3 Ne 1.
IpaBupHUMU BBAXKAKTHCA BiANOBIAL:

I. II. Its hardware.
2. a) The CPU and its functions.
3. b) The main memory.

Its functions and components.

3a KOXKHY BiANOBINb, WO 36iracThcs 3 €TAIOHOM, HapaxoByeThbes 2 Oamu.

MakcuManbHa KIAbKICTE OatiB 3a BUKOHAHHS T3 Ne 1 — 6 6anis.

T3 Ne 2.
[IpaBu/ibHUMHU BBAXAIOTHCS BiAMOBIAIL:
4, data 14. ROM (Read Only Memory)
5. program instructions 15. the peripherals
6. the Central Processing Unit (CPU) 16. input devices
7. the main memory 17. output devices
8. the peripherals 18. storage devices
9. a microprocessor 19. a mouse
10. the main memory 20. a monitor
11. the instructions 21. a printer
12. data 22. storage devices
13. RAM (Random Access Memory) 23. floppy disks.

3a KOXHY BIANOBiAb, WO 36iracThCs 3 €TANOHOM, HapaxoByeThca | Oai.

MakcuManbHa KINBKICTb OatiB 3a BUukoHaHHs T3 Ne 2 — 20 6anis.

T3 Ne 3.
24. + 26, 28. 30.
2 &1 29, + 31+
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24. The information presented to the computer is input.
27. A small device used to store information is a floppy disk.
29. Programs which can be used on a particular computer system are known as
software.
3a KOXKHY BiIMOBimb, WO 36iracTeca 3 eTaioHOM, HapaxoByeThes 1 Oan.

MakcuManbHa KibKicTh 6aniB 3a BukoHaHHsA T3 Ne 3 —~ 8 6anis.

T3 Ne 4.
TTpaBuIbHUMH BBOKAIOTHCA BiTIOBiAL

1 G

3a KOXHY BilNOBiAb, AKa 30iracTbCsi 3 ETATOHOM, HApaXOBYETHCA 3 Oanu.

MakcHMalibHa KUTBKICTh OaiB 32 BUKOHAHHS T3 — 3 6au.

T3 Ne §.

[MpaBunbHUMH BBAXKAIOTHCSA BIANOBIAL

2.A

3.B

3a KOXHHUHA MyHKT, Akuil 36iracThcs 3 €TanOHOM, HapaxoByeThcs | Ga

MakCHMaIbHAa KiNbKICTh OasliB 3a BUKOHaHHS T3 — 2 Danu.

T3 Ne 6.
[TpaBuibHUMHM BBKAIOTECA BLITOBIAL

4. A

o M & W
O » » W

3a KOXKHY BIANOBI/Ib, KA 306iracThess 3 €TAJOHOM, HapaxoByeThcs 1 Oan.

MaKCUMabHa KinbKiCTh DastiB 3a BuKOHaHHA T3 — S Hanis.
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T3 Ne 7.

3a KOXHY BiANOBiOb, WO 30iracThca 3 €TAIOHOM, HApaxoBYeThCA 2 Oanw.

MakcumManbHa KibKicTh 6aniB 3a BUKOHaHHA T3 Ne 3 — 6 Garis.

T3 Ne 8.

ITpaBuibHUMHU BBaXKAKOTHCSA BIANOBLI:
416 2 1

8.1 2 8.13

6.] 4 8 B

3a KOXKHY BiANOBiAb, WO 36iracThCa 3 €TAJOHOM, HAPaxOBYEThCA 1 Oan.

MakcuManbHa KIIBKICTh OasiB 3a BUKOHaHHs T3 — 6 Oaris.

T3 Ne 9.
[1paBunbHUMHU BBRKAOTHCA BIANOBIAL

10. They are quieter and produce much higher quality output.

11. Sheets of paper, envelopes, labels and transparencies.

12. Mix four inks.

3a KOKHHUI NYHKT, Akuil 30iraeThcs 3 €TATOHOM, HapaxoByeThed 1| Oan.

MaxkcuMalibHa KiNbKiCTh 0aliB 3a BukoHaHua 13 — 3 Hanu.
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[Tpu OUiHIOBAHHI:

1) y 3aBHaHHAX 3 BMOIDKOBAM THIIOM O4iKYBAHOI BiAMOBIA BiITOBiAB
TECTOBAHOIO 3iCTABNAIOTH 3 MOJAHMMH KJIIOYaMHU (€TaJOHAMK) JUIS BCTAHOBJICHHA
BiZITIOBI/THOCTI;

2) y 3aBJaHHAX 3 HAarliBIPOAYKOBAHHM THIIOM OYiKYBAaHOI BiAnoiai
BiJMOBiAb TECTOBAHOrO 3iCTABJAIOTH 3 KJIIOYAMH [ BCTAHOBJICHHA BiZITOBIXHOCTI,
BPaXOBYIOUHM CEMAHTHYHO TNpHiHATHY (OpMy Ta 3pO3yMLUIICTS. OpdorpadiuHi,
rpaMaTMuHi Ta IYHKTyauifiHi noMuiakd B OQOpMICHHI BIAMOBLIEH HE

BPaxoBYHOTHCH.

Cy6TecT /AT TEMATUYHOrO TECTYBaHHS AYIUTHBHUX YMiHb

Y UpOMy CyOTECTi TECTOBAHMM HpOMNOHYETECA NMPOJEMOHCTPYBATH BMiHHA
PO3YMITH Ha CllyX (KPMTHYHO) TPH aBTEHTHYHHMX ayIdiOTEKCTH, 3anucaHi Ha
MarHiTHy 1niBky. Lle#t cy6Tect micTurb Tpu TecTosi 3apaanns (T3). AynioTekcTn B
yCiX 3aBIaHHAX NPOCTYXOBYHOTBCA OAMH pa3. Ha BMKOHAHHA MepuIOro 3aBJaHHA
BiABOAUTHCS 9 XBUAMH, Ha BHKOHAHHA APYTOro — 9 XBWIHH, TPETHOro — 7 XBUIMH. B
UiTOMy Ha BMKOHaHHA UBOTO CyOTECTYy MiX 4aC MIACYMKOBOTO 3aHATTS UMKIY
BIABOAUTHCS 25 XBHUJIHH.

O6’exT BUMIipIOBaBHE. T3 na”oro cyoOTec CMIOHVKAIOTh TECTOBAHUX
Y HY

NPOCIyXaTH ayNiOTEKCTH, 3PO3YMITH IX, MEPEOCMHCIHTH 3MICT, PO3yMIIOUH
iMITiLHTHY iH(OpMALIi0, 3aCTOCOBYIOUH TaKi BMiHHA!

a) poOHTH BUCHOBKH Ha OCHOBI 3MiCTY ayRiOTEKCTY, PO3YMIiOuH IMITUMTHY
indopmauiro (T3 Ne 1);

6) OUIHIOBATH 3MICT MOBIZOMIIEHHS, po3yMiloun iMIAiLMTHY iHopmanio (T3
Ne 2);

B) NIPOTHO3YBATH HAa CMHCIOBOMY PiBHI, PO3yMilO4H IMIUIILIMTHY indopmaLio
ayniotekcty (T3 Ne 3).

Wonawe i3 3aBaaHb He nependayac po3yMiHHS TECTOBAHMM KOXKHOMO COBA.
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TekcTn. AyaiOTEKCTH MarOTh TaKi PHCH:
a) peicBaHTHI CUTYanism (peasbHuM abo YSABHHMM) NOBCAKAEHHOIO KHTTH,

6) MatoTh 4iTKy KOMIO3MLINAHY Ta CMHCAOBY CTPYKTYPY.

Tuny Texcris. Hecknamui aBTeHTHYHi aymiOTEKCTM MOHONOTIYHOTO Ta
MATOTIYHOrO XapakTepy. TeKCTH — MOHONOTH ABOX KOMNO3MLIMHO-MOBICHHEBHX
bopM THNY FOBIIOMJEHHA Ta ONMC-PO3MIPKOBYBAHHA. Ayniorekcr-aianor
NPEACTABACHUH Al TOrOM-NOSCHEHHAM.

Tumn T3. T3 cybrecTy BMKOHYEThCA i3 3aCTOCYBAHHAM TaKHX NpUHOMIB

TECTYBaHHs: “3aBeplleHHs pedens”, “3icrapnenus”, “Bianosini na sanuTanus”.

Test Item 1.
You are visiting the model office. Listen to the lecture on printers given by one of
the Business Studies lecturers. The lecturer has offered you the test. Choose the

appropriate completion of the sentences below. On your answer sheet put A,BorC

next to the sentence number.

1. A dot-matrix printer is more suitable for...

A ... in-house function.
B ... educational institutions.
C ... large companies.

2. A daisy-wheel printer is more appropriate for use in...

A ... large companies offices.
B .. small companies offices.
C .. private places.

3. A laser printer is the best option for...

A ... individuals with short incomes.
B ... small businesses.
C ... large businesses.
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4. A colour ink-jet printer is a very good choice for...

A .. individuals with short incomes.
B .. failing businesses.
C .. prosperous businesses.

You will get 4 points for every correct answer.

Test Item 2.

Are you interested in optical disks? Listen to a short lecture. The lecturer has offered

you the test. Read the sentences of the test below. On your answer sheet next to the

number of the sentence matching the inferred meaning of the lecture put “ +“, put “~

49

next to the number of the sentence which doesn’t match.

. 8

10.

g

12.

Using WORM disks can help to cut down costs by decreasing the number of

staff required to perform certain tasks.
WORM disks application can give an opportunity to save office space.

Using WORM disks can help to increase the skill level of the office personnel.

 CD-ROM disks can be widely used in science and education.

CD-ROM disks application can help to save paper.
Erasable optical disks can be widely used for “personal” data storage.
You may leave erasable optical disks on top of your computer.

Erasable optical disks can guarantee “permanent” information storage.

You will get 4 points for every correct answer.
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Test [tem 3.

Do you know a lot about scanners? Listen to the conversation concerning them at
International Computer Exhibition. Can you answer some questions after listening to
it? Choose the correct answer to every question below. On your answer sheet next to

every question number put A, B or C.

13. What can scanners application in English learning provide?
A Printed materials availability.
B Quality of recordings.
C Quality of text printing.

14. What scanners will business personnel find more effective in the office?
A Flatbeds.
B Hand-held scanners.

C Greyscale scanners.

15. What scanners will be preferable for businessmen who travel a lot?
A Flatbeds.
B Greyscale scanners.

C Hand-held scanners.

16. What kind of scanner is the most appropriate for application in English learning
at school?
A A colour scanner.
B A black-and-white scanner.

C A greyscale scanner.

You will get 4 points for every correct answer.
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Answer Sheet

Baauk A18 Bignosine#

Educational Institution

Faculty

Group

Surname

Name

Date
Test Item 1.
1. 2 3. 4.
Test Item 2.
5. 7. 9. 11.
6. 8. 10. 1.2:
Test Item 3.
13. 14. 15, 16.

CxeMa OLiHIOBAHHSA BIANIOBiAEH

T3 Ne 1.

[TpaBUIBHUMH BBAXAKOTHCA BIAMOBIAL
LA 2.B 3.C 4.C

3a KOXKHY BiANOBiMb, O 30iracThCA 3 ETANOHOM, HAPaXOBYETHCH 4 OalH.

MaxkcuMallbHa KIIbKICTh 6aniB 3a BUkoHaHHa T3 Ne | — 16 6anis.

N
o



T3 Ne 2.

[IpaBunpHUMY BB2XKAKOTHCH BIANOBIAI:

3. # 7. - 9. «+ 11
6. ¥ 8. 10. + 12. -
32 KOXKHHH MYHKT, IO 36iracThcs 3 €TANOHOM, HapaXOBYETHCA 4 Gau.

MakcumanbHa KinbKicTs 6amiB 3a BukoHaHus T3 Ne 2 — 32 Ganm.

T3 Ne 3.

[TpaBHsIEHMMH BRAXKAIOTHCA BIANOBII:

13. A 14. A 15.C 16. B
3a KOXKHY BiMOBi/s, sKa 36iracThes 3 €TANOHOM, HAPAXOBYETHCH 4 Gany.

MakcuManeHa KinekicTs 6asiB 3a BukoHaHuS T3 Ne 3 — 16 Ganis.

I1pu ouiHtoBaHHI:

1) y 2aBpammsx 3 BUGIPKOBMM THHOM OYiKYBaHOI BIAMOBIAi BiNMOBiAB
TECTOBAHOTO 3ICTABIAIOTH 3 MOJAHAMH KTOYaMM (€TAOHAMH) AN BCTAHOBNEHHS
BIATIOBITHOCTI;

2) y 3aBIAHHSX 3 HaMBIPOAYKOBZHMM THIIOM OYiKYBaHO! BiANOBii
BIANOBI/Ib TECTOBAHOIO 3iCTABIAOTD 3 KIIOYAMH [T BCTAHOBICHHS BIANOBIIHOCTI,
BPaXOBYIOUM CEMAHTUMHO NpUHHATHY (opmy Ta 3posyminicTe. Opdorpadiuni,
rpaMaTHiHi  Ta  MyHKTyauilfiHi nomuakd B odopmieHsi  Biamosinel  He

BPaXxOBYIOTLCH.



TekcTH MOBIAOMICHD UIS ayAiIOBaHHS 32 TEMOLK

“Computer System: hardware configuration”

Tapescript
A computer system consists of two parts: the software and the hardware. The

software is the information in the form of data and program instructions. The
hardware components are the electronic and mechanical parts of the system. The
basic structure of a computer system is made up of three main hardware sections: (i)
the Central Processing Unit or CPU, (ii) the main memory, and (iii) the peripherals.

The CPU is a microprocessor chip which executes program instructions and
coordinates the activities of ali the other components. In order to increase the speed
of the central processor, a co-processor chip can be installed inside the computer.
This co-processor performs calculations very rapidly.

The main memory holds the instructions and data which are currently being
processed by the CPU.

The internal memory of a microcomputer is usually composed of two
sections: RAM (Random Access Memory) and ROM (Read Only Memory).

The peripherals are the physical units attached to the computer. They include
input/output devices as well as storage devices. Input devices enable us to present
information to the computer; for example, the keyboard and the mouse. Output
devices allow us to extract the results from the computer; for example, we can see
the output on the monitor or in printed form. Secondary memory devices such as

floppy and hard disks are used to provide permanent storage of information,

Tapescript
When you install a hard disk it works extremely well to begin with. Then,
after a few months, you may start to notice that it's not so efficient — it becomes

slower. This is because of something called fragmentation.
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After the operating system has stored, copied and erased lots of files it starts
to have difficulty in storing files in sectors that are next to each other, or
“contiguous”. When it can't find enough “contiguous space” to store complete files
it starts to break new files up into fragments. Files start to be stored in different
sectors scaftered all over the disk instead of in one single group of contiguous
sectors.

As more and more files are fragmented, the operating system and the disk
heads have to work harder and harder to find all the pieces of a fragmented file.

Access time slows down, and the constant movement of the read/write heads
can damage the drive.

One easy way of restoring your disk to its earlier level of performance is
called “optimizing”. This is when you make a back-up copy of the hard disk, erase
the contents of the original and then copy all the files back onto it. You gain more
contiguous space because the free space is no longer spread all over the disk. This
works quite well, but takes quite a lot of time.

There are also special defragmenting programs that can help you fix your
disk. They can show you the level of fragmentation on your disk and if you decide
to optimize the disk they will reorder the files into contiguous sectors. Some can
defragment disks while you're using the computer, and can even prevent future

fragmentation.

Tapescript
Radio Presenter: Now it’s time for this week’s edition of Hotline, introduced by
Miranda Green.

Miranda: Good morning. Are you about to buy a new printer? And are you confused
about all the different sorts on the market? Well, this week we’re looking
at ink-jet and laser printers. In the studio with me is Mr. John Kelly from
TexPrint, manufacturers of ink-jet printers. Mr Kelly, how does an ink-jet
printer work?

Mr. Kelly: Well, basically, an ink-jet printer operates by firing droplets of ink onto

the paper.
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Miranda: And is this a good method of printing?

Mr. Kelly: Yes it is. It’s much quieter than the dot-matrix printer and its output is of
a much higher quality.

Miranda: But it’s more expensive than the dot-matrix, isn’t it?

Mr. Kelly: It is, yes, but, as I say; it’s quieter and produces better results.

Miranda: And what about laser printers? How do they compare with ink-jets?

Mr. Kelly: Well, laser printers do produce better quality output than ink-jets, but
ink-jets are still an excellent alternative and could become real
competitors for laser printers.

Miranda: Why’s that?

Mr. Kelly: Well, they are much cheaper than laser printers and some of them can
produce up to 360 dpi resolution, which is very good.

Miranda: And what kinds of things can ink-jets print? Can they just print sheets of

paper, or do they do other things as well?

Mr. Kelly: Oh yes, they can print envelopes, labels and even transparencies.

Miranda: And what about colour? Are there many colour ink-jet printers on the
market?

Mr. Kelly: There are indeed, and some are PostScript compatible, so they can be
used in professional graphics and business presentations. They operate by
mixing four inks — magenta, yellow, cyan and black — to produce different
colours. They are quite expensive for individuals but for small businesses
they can be ideal.

Miranda: What would your advice be to someone thinking about buying a new
printer?

Mr. Kelly: Well, 1 think that if you can afford it a laser printer is the best option. But
if vou don't want to spend so much, then a black-and-white ink-jet printer
is a very good choice.

Miranda: Thank you very much, Mr. Kelly. And now over to Sally. who’s going to

tell us how to find out which printer is compatible with which computer ...
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Tapescript

Good moming, everyone! Welcome to the model office. Last week I showed
you around the office and indicated some of the range of equipment we have here
for students to practise using. You had just had a lecture on peripherals, hadn’t you?
Well, I said I would talk to you in more detail today about printers, so here we go.

As you know, there are many types of printers and which one you decide to
use will depend on all sorts of things, like how much you can afford, what kinds of
documents you are intending to produce, who will be receiving your printed material,
and so on. It may not always be necessary to use the finest quality of printing all the
time. There will be occasions when a draft quality will suffice, for your own use or
some other in-house function.

Now then, if you can move round to this work station and make sure
everyone can see ... good, that’s fine. Printers provide the user with hard copy (that’s
permanent copy) of information that can, for example, be posted to clients, etc. I’'m
thinking of bank statements, salary slips, and so on which need to be output on a line
printer. There are two types of printer: line printers and character printers. Do make
a note of those two terms. Line printers can type a complete line at a time whereas
character printers can only print a single character at a time. An ordinary typewriter
is a character printer.

Now look closely at this. This is a dof matrix printer. Some of these are line
printers but the majority are character printers. They are mainly used with
microcomputers because they are fairly cheap. They consist of seven or nine
hammers that can be struck individually under computer control against an inked
ribbon to make a dot on the paper. By striking the right hammers at the right times
they print numbers and letters. By going over each character twice and moving the
print head slightly it is possible to produce near letter-quality print. Obviously this
takes longer.

The daisy wheel printer consists of a wheel with lots of arms attached to it,
rather in the way petals are attached to a daisy. At the ends of these arms are two

characters, one above the other. The daisy wheel rotates and a hammer presses the
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carbon paper against the arm. Daisy wheel printers are slow but produce high quality
print. They are used mainly for producing business letters in conjunction with word
processors and aren’t expensive.

Laser printers are extremely fast and are used for producing Giro cheques
and gas and electricity bills. Quiet, of course, because the system is non-impact.
Laser printers are quite expensive but are ideal where large quantities of bills need to
be sent out in a short space of time.

Ink jet printers use a technique of spraying tiny drops of ink onto paper to
form characters. The new printers are able to print graphics as well as use several
coloured inks. They are expensive but have the advantage of being quiet. Goodness,

we’re almost running out of time. Does anyone have any questions? I’ll try to ...

Tapescript

All the signs say that optical technology has become a reality. Optical
storage devices give us immediate access to an enormous amount of information.
Hundreds of megabytes of software, images, animation and digitized sound can be
recorded on one light, durable optical disk. Basically, there are three main types of
optical disks: WORMSs, CD-ROMs and erasable optical disks.

WORM stands for “write once, read many”. WORM disks are so called
because they are indelible, i.e. they cannot be erased. For this reason, they can last
100 years, and this technology is very useful for “permanent™ archiving of important
documents in fields like medicine, law or history. Each WORM disk can hold one
gigabyte of information.

CD-ROM systems offer everything, from enormous shareware collections to
large dictionaries, from multimedia databases to font families and graphics.
Companies and government agencies have discovered that CD-ROM is the most
economical way of sharing information. In fact. one CD-ROM disk (650 MB) can
replace 300,000 pages of text (about 500 floppies), which represents a lot of savings
in distributing materials and corporate databases. In addition, disk formats and

interfaces have been standardized by the ISO (International Standards Organization),
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so manufacturers call exchange disks and cartridges. Furthermore, CD-ROM readers
can double as audio-CD players.

Erasable optical disks usually hold between 120 and 1,000 MB of data in
3.5" or 5.25" disks. Unlike CD-ROMs and WORMs, erasable optical disks (EOD)
are rewritable, i.e. we can write on them in the same way as a hard disk. They are
mainly used as secondary storage devices, functioning as file servers or as a second
storage unit, accompanying hard disks. EODs have two important advantages over
hard disks: they are not affected by magnetic fields, and they have a longer data life.

However, optical drives are slower than hard drives.

Tapescript

Student: What sort of technology is used in scanners?

Vicky: Well, a scanner is a bit like a photocopier. You put the image you want to
copy face down on the glass plate of the scanner, start the program, and a
laser beam reads the image in horizontal lines. This image is then sent to the
computer where you can use it, changing it as you want.

Student: What about text? Can you scan text?

Vicky: Yes, you can, but you need special software called OCR — Optical Character
Recognition. This interprets the text letter-by-letter and enables the computer
to recognize the characters.

Student: Why do people need to scan text?

Vicky: Well, text that’s been scanned can be stored as data in databases, or edited
with a word processor.

Student: Eh., what types of scanners are there?

Vicky: Well, there are two basic types: flatbeds and hand-held ones. A flatbed
scanner is built like a photocopier and is for use on a desktop. A hand-held
scanner, is much smaller and is T-shaped. The scanning head is not as wide
as the one in a flatbed ~ it can only copy an image of about four inches wide.

Student: I know you can get black-and-white scanners and greyscale ones. What’s

the difference between them, and how do you know which one you need?

29



Vicky: Well, black-and-white scanners are cheap and work best with text and simple
graphics. Greyscale scanners can see shades of grey, and have been designed
to work with continuous tone images such as photographs and detailed
graphics.

Student: What about colour scanners?

Vicky: Well, they produce colour images that ook lovely on the screen, but aren’t
much use if you don’t have a colour printer. And they are very expensive at

the moment...
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